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Abbreviations

AHSME

AIME

AMCS
AMCI10
AMCI12
Aust MC
British IMC
British IMC
British SMC
HMMT
MAO

American High School Mathematics
Examination

American Invitational Mathematics
Examination

American Mathematics Contest 8
American Mathematics Contest 10
American Mathematics Contest 12
Australian Mathematics Competition
British Junior Mathematics Challenge
British Intermediate Mathematics Challenge.
British Senior Mathematics Challenge
Harvard — MIT Math Tournament

Mu Alpha Theta High School Problems
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